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Use Whitney's method to work out these diisons.
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Usa Dani's method to work out 3 x 27
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Multiply 3-digits by 1-digit € complete the muttpication.

.

- e
o0 [0 000 LILJ
00 21
o0 [0 000 =

(@ 19 e o vl chat 1o hlp i mutipy A
@ 3digit number by a 1-digit number. 00

e | e [ ©0 [0 990
(=] 00 0000
© 00 0000

[wlnlo

[<] 00 0000 © compicte the muttpications.
‘@) What multiplication Is Filip working out? o ?
124 x[3 HTo HTo
b) What s the onswer to Filps muliplcation? 373 2 L
x 4 x .
BB ANE
0 O
(@ use ploce value counters to complats the multplications. (]
» @ wxs
@ 3xan=[o7 @sxios=[Co0
Wit o
Baxas=[500 aaxe-[T20 ate 3
— x 2 5
@ sxi0s=[50 s[5 HEIE 5
' an





image4.png
o 3x20 07 b) Use @ writen method to work out s x 215

[Tl k)
ajulo 131 s
| 3 | 7
AR - @ here oo 7 oor grous n o schoo
e ore 112 ke i och yeor roup
T p— How mamy chlcren o her nthe whce ol

How many Kilometres wil the lomy civer hove trovelled
ofter 3 doys?

L © A vonona weighs 130 g

A pineapple weighs 2450
O o ana ey aneworking ot s x 245

©

Thnow the answer 809 A contains & bananas and bog B contains 3 pineapples.
wil be greatr than

Which bog welghs more and by how much?
1,000 because 1 know

show your working.

Tiow the answer
hould end in 5 because 1

809 L welghs| 45 _Jo more than bog ..

@) Who I correct? irde your answr.

" - - - m




image5.png
@ © complete the dnsons.

Divide 2-digits by 1-di

152 @ a9 8r |
narsa=[ 115
(@ whiney s workingout 19 4 using a lce valu crr
0o (00
oo P—
o oo @ %[ 2 Qs+ 5

sea=[00(
) Talk about whineys method with o porter. Q L
5 Why I there on counter left over? -
. N a3
10
 complete the dision M P
wra=l0 |
 Use ploce value counters to complte th ivions. (]
50+ 2c2 st 2rd s9sa=[00 |
what do you notice? Q .





image6.png
1) What does the remainder represent? @)

@ o0 s b worktnoutsome s
Tk about t wth 0 partner.

7244-18 9 complete the sentence.
73ab=181 Annie con i || boxes with | 2 | eggs let over.
7444-1802
75442183

© ek hos these bus. (@)

¥ o

vt oot $ e

L know without
warking it ot that 76 + 4
must be 18 14

® coawaw

) explin why Dora I wrong. Equal numbers of each bulb are put Into & tubs.

You a ‘How many of each bulb wil be In each tub?
Qi b.

oatfoats[ 12| umps| 5] croanes 71,

o many of sxh bl wil e et cvrr
© o5 come mbossars

‘Ann hos 75 eggs.

She wants to know haw many boxes she can il oattoats[ | | rups[ 3| crocuses|
@ Complets the dhson to work 1t aut.
How many tubs could Jock e o tht thers are o bulbs
[ 2 ]-[L et overr





